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Q.1(a) How can standard routine production be differentiated from a project work? [2]CO1, L2 
Q.1(b) What do you mean by ‘triple constraints’ of a project? [3]CO1,L1 
Q.1(c) Explain various stages in project life cycle. [5]CO3,L2 

   
Q.2(a) State the roles of a project manager. [2]CO1,L1 
Q.2(b) What are the causes of delay in projects? How can you eliminate them? [3]CO1,3,L2 
Q.2(c) Explain the significance of different organization structures in the context of project 

management. 
[5]CO1, L2 

   
Q.3(a) Briefly explain ‘Environmental Impact Assessment (EIA)’. [2]CO2,L2 
Q.3(b) Social cost benefit analysis (SCBA) is an important aspect in public projects – Justify. [3]CO1,3,L4 
Q.3(c) Explain the concept of feasibility study of a project with an example. [5]CO1,3,L2 

   
Q.4(a) What are the significance of slack and float times in project network? [2]CO1.4,L1 
Q.4(b) Explain with diagram: activity on node (AON) and activity on arc (AOA) [3]CO1,4,L2 
Q.4(c) Consider the following data to construct the project network and determine the critical 

path. 

 

[5]CO4,L3 

   
Q.5(a) Distinguish between PERT and CPM. [3]CO1,4,L4 
Q.5(b) Consider the project network shown below. 

 
 
 

[7]CO4,L3 
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Table: CPM project time and cost data 

Activity Normal Time 
(days) 

Crash time 
(days) 

Normal cost 
($) 

Crash cost 
($) 

a 4 3 400 800 
b 8 5 600 2400 
c 6 5 1000 1200 
d 9 8 700 1400 
e 5 2 1200 2700 

Total Cost   $3900 $8500 
 
Determine the minimum cost crash solution. 
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